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COMPUTER BASED TEST

Post Name : Trained English Teacher In Government Primary School
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Question Description *
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Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

A*

B*

Choose the adverb from the following sentence:
The state level chess champion played his stroke masterfully.

level
stroke
masterfully
champion

None of the above

What is a phrase with special meaning called?

Proverb
Adverbial phrase
Idiom

Adjective phrase

None of the above

Fill in the blank:
A word that describes an adjective is

a noun

an adjective
an interjection
a proper noun

None of the above
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The following sentence is in direct speech. Select the
sentence from the alternatives that is in indirect speech.
The President said, “Complete the project and proceed.”

The President asked them to proceed.
The President instructed them to proceed.

The President instructed them to complete the project and
proceed.

The President gave them instructions.

None of the above

How many conjunctions are present in the sentence that
follows:

Gina and Gita were terrified because of the stories and
rumours.

None of the above

What is the part of speech of the underlined word in the
following sentence?
This expensive book-case is hers.
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Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

Possessive preposition
Simple pronoun
Possessive adjective
Possessive pronoun

None of the above

Which of the options given is the passive voice of the
following sentence?
The enthusiastic gully cricketers have broken the window.

The window is been broken by the enthusiastic gully
cricketers.

The broken window is by the enthusiastic gully cricketers.

The window has been broken by the enthusiastic gully
cricketers.

The enthusiastic gully cricketers have broken.

None of the above

Fill in the blank with the correct option from those given
below.

He has now decided to scale

Himalayas
a Himalayas

the Himalayas
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D*

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

A*

Marks *

Answer *

Question Description *

Himalaya

None of the above

Fill in the blank with the correct option from those given

below.

He said that he

from his village.

returned

will return
had returned
is returning

None of the above

Identify the correct tense used in the sentence:
Ramesh will have reached his goal by tomorrow.

Present future
Present perfect
Future

Future perfect

None of the above

Fill in the blank:
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B*

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

2 ¢

In the phrase, “Their inheritance”, “their” is a
Possessive preposition

Simple pronoun

Possessive adjective

Possessive pronoun

None of the above

What is the word for ' a remedy or a solution for all
problems/diseases' ?

exercises
diet
peace
panacea

None of the above

Provide an antonym for the word:
Amateur

Basic
Fundamental
Professional
Artist

None of the above
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Answer *

Question Description *

A*

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

A*

Which of the following is a correctly punctuated sentence?

The old lady hid under her umbrella, the little boy danced in
the rain.

The Old Lady hid under the umbrella, the little boy danced in
the rain

The old lady hid under her umbrella; the little boy danced in
the rain.

The old lady hid under her umbrella- the little boy danced in
the rain.

None of the above

Fill in the blanks with the correct preposition:
This agreement is the two parties involved.

among
within
around
through

None of the above

Fill in the blank with the correct option from those given
below.
The movie by them before.

had not seen
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B * had been not seen

C* has seen not

D * had not been seen
£ * None of the above
Marks * 1

Answer * d

Fill in the correct modal in the given sentence:
Kartik and his friends travel to Mumbai soon.

Question Description * ,
I'm not sure.

A * must

B * might

C* will

D * autght to

 * None of the above
Marks * 1

Answer * b

Select the correct option to fill in the blank:

Question Description *  1he holiday wasgiven ___ all may study for the
exam.

A * because of which

B * as a result that

C* in order that

D * even if

E * None of the above

Marks * 1
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Answer *

Question Description *

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

Which of these is a phrase?
The assorted box

The assorted box was mine.
The box was mine.

was mine

None of the above

Identify the sentence type of the sentence given below:
Go, lift the bucket and empty it into the drain!

Exclamatory
Imperative
Dependent
Declarative

None of the above

The population of a town is 11200. It increases by 25% in the
first year and decreased by 15% in the second year. What is
the population of the town at the end of two 2 years?

14000
11900

16100
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D*
E*

Marks *

Answer *

Question Description *

Marks *

Answer *

Question Description *

A*

B*

Marks *

Answer *

Question Description *

13500

None of the above

The marked price on a shirt is Rs.450.The shopkeeper gives
20% discount on it.Therefore its actual price is Rs.-------- :

400
360
440
405

None of the above

The age of Rita after 8 years will be ‘x'years .Therefore her
age 8 years ago was ---- years.

X+8
x+16
X-8
X-16

None of the above

The total number of three digit numbers which
are divisible by 3 are ............
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E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

270
280
290
300

None of the above

Sarika is 'x’ years old and her daughter is 'y’
years old. If twice sarika’s age is added to thrice
her daughters age ,then the expression will be

X+ Y

X +y +5
2x +3y
3x+2y

None of the above

The present age of Sita's mother is three times
the present age of Sita. After 5 years ,the sum of
their ages will be 66 years. Therefore the present
age of Sita is ............ years.

14
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E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

22

42

15

None of the above

How many times during the day do the hands of a clock
form a straight angle ?

12
24

None of the above
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Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

Marks *

Answer *

Question Description *

A*

2 .
Ifa+b+c=0,find the value of atb _2b bt
[ o+ o

None of the above

The LCM of 45 and 42 is --------- .

1892
87
630

None of the above

A man bought a scooter on 12 monthly
instalments . He paid Rs 6000 as the first
instalment and thereafter for each instalment he
paid Rs 250 less than the previous month. By
instalment if he paid Rs 3150 extra over the
original price, then the original price of the
scooter was Rs ...........

55500

16/21



41

42

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

A*

B*

52550

52350

53250

None of the above

In the following question few statements are given and these
statements are followed by conclusions. You have to take the given
two statements to be true even if they seem to be at variance from
commonly known facts. Read the conclusions and then decide
which of the given conclusions logically follows from the given
statements, disregarding commonly known facts.
Statements:

All bats are mats.

No bat is a hat.

All hats are mats.

Some hats are mats.

All mats are bats.

Some hats being mats are a possibility.

None of the above

Four students W, X, Y and Z are sitting around the corners of a
square table. If W is sitting opposite to Z, then which of the
following is/are the neighbours of W?

X
Y
Either X orY

Both XandY

17121
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E *
Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *
A *

B*

E*

Marks *

Answer *

Question Description *

A*

B*
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None of the above

In the following question find out the alternative which will

replace the question mark.
Pig: Grunts : : Donkey :

Howl
Bleat
Bray
Bark

None of the above

Pick the odd word out from ‘Hate, Fondness, Liking, Attachment’

Hate
Fondness
Liking
Attachment

None of the above

What should come in place of question mark (?) in the

1
a
following number series?
1,2,3,5,8,?
9
11
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Marks *

Answer *

Question Description *

Marks *

Answer *

Question Description *

E *
Marks *

Answer *

Question Description *

13
15

None of the above

Ravi moves from point X to 20m towards North. Then he moves
40 m towards West. Then he moves 20m North. Then he moves
40m towards east and then 10m towards right and he reaches to
point Y. Find the distance and direction of point Y from X.

40m North
30m North
30m South
40m South

None of the above

If Priya and Siya were born on the same day and Kia is elder to
Siya but Riya is younger to Priya. Who is the youngest of all the
sisters?

Kia
Priya
Riya
Siya

None of the above

Complete the given letter series by choosing the correct
option.
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50

E *
Marks *

Answer *

Question Description *

A*

E *
Marks *

Answer *

Question Description *

AZ, DW, GT, JQ, ?

LO
MN
ST
MO

None of the above

Statement I: Recently a village panchayat shut down all the
liquor shops in village.

Statement II: Less number of domestic violence cases were
reported in police station.

Statement I is the cause and Statement 11 is its effect
Statement 11 is the cause and Statement I is the effect
Both statement I and Statement II are independent causes.

Both Statement I and Statement II are effect of some common
cause

None of the above

How many children does Mahesh have?

Statements:
I. Jay is only son of Meena who is wife of Mahesh

II. Keshav & Kaustubh are brothers of Mahesh
I alone is sufficient while II alone is not sufficient
II alone is sufficient while I alone is not sufficient

Either I or II is sufficient



Neither I nor II is sufficient

D *
E* None of the above
Marks * 1

Answer * d

21/21





